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JEimE>3— NSV EFIEAS

FEFIE 5F 1000m

592K JIEfi No K& FhiiE [I=Civ FP RimsLix e
SREE 1 7 KA B BETES/(OPEN) 1 1 1 34 1.37.190
2 6 fHl REX SR 1 1 2 21 1.37.880
31 FH & BSTC 1 2 3 13 1.37.880
4 9 fHE [EE SHEAPFER 2 3 4 8 1.40.910
5 13 % BX 5/ 1SSEEH] 2 2 5 5 1.42.030
R 6 5 ML AKX HHER 2 3 1.43.350
7 15 HM % B KMiE S/ SR 2 4 1.46.370
8 12 |UHE Fsk BILRE R FER 1 Penalty 1.46.870
TiE 9 10 f#x ®BX SEFFER 3 1.42.050
10 2 PUEP BERX BSTC 3 1.48.570
11 11 R @ BEZEEPFER 3 1.48.610
12 14 &L pES 18)11SSAMEM] 3 1.53.050
13 3 KR &7 Vortex 4 1.49.050
14 8 KX [EH [EESSIMFH] 4 1.50.050
15 4 & B Vortex DNF
15 16 KFAEP B B RMIES/VER  Penalty
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